A REXRESIRARD (FHM3F6AXKEKEHE)

#h X £ HEFEH B = &t BIAL AD
® L 169 165 152 317 + 1
5l— & =& 573 555 530 1,085 + 1
X 5 17 245 225 266 491 — 1
M 57 166 186 171 357 — 1
N E 1,153 1,131 1,119 2,250 0
% M 165 171 155 326 — 3
it m # 86 98 114 212 — 4
BmoOom 123 123 144 267| — 1
= |F sl 94 98 96 194 0
= X 82 88 99 187 0
E 1R 61 71 74 145 — 1
|2 o 204 163 185 348 — 1
BES1TEH 118 148 164 312 — 4
BEL2TEH 1 1 1 2 0
BES3TH 83 112 129 241 0
N 1,017 1,073 1,161 2,234 — 4
e = 52 50 52 102 + 1
ah ] 28 25 32 57 0
T A K 69 80 78 158 0
gl A ow 27 23 32 55| — 3
& e 39 31 36 67 0
SCBIR1TE 240 302 298 600 — 7
5 [SCPR2TE 212 300 298 598 0
S(BIR3TE 228 286 276 562| + 2
S(BIRATE 269 307 333 640 0
S<L R @ 181 327 297 624 — 6
TN 1,345 1,731 1,732 3,463 — 3
& 294 350 352 702 — 6
3 s 19 18 23 41 0
w|F £ & 62 67 71 138 — 1
i Ly 324 376 384 760 0
q 3 & 456 467 543 1,010, — 4
TN 1,155 1,278 1,373 2,651 — 1
XE1TEH 398 439 485 924 + 1
XKE2TEH 536 593 687 1280 — 3
Xx=3TH 343 398 412 gi0] — 3
w|XAE4TH 572 651 684 1335 — 3
XE5TEH 124 131 132 263 + 3
N 1,973 2,212 2,400 4,612 — 5
B 6,643 7.425 7785 15210] — 43

B B L 18 — 10 — 17 — 26 — 43




